PHEOR

3.6~4.9jsH
X & F & 5K = REE  ZALSS = H &5HAE £ E 1 FT& (oh) BEX 3.17
o= -Annp==5 * H B BEE EEX 3.16 1 FiE £ H X 8 (z=Lwphd =E 3.18
1 TRA £ B W F (Fo) BEA 324 1 FiE v B 88 (wSb) fEE 3.26
1 =8 o # (LoxE) ¥ 3.25 O OFREERRSF R X $KER (LAi?3) =8 3.17
1 DOEEERIC B B B (0D ZEEHk 3.26 7 IFEKEF % B B K (bxSro) R 3.25
B aEE #H M OB 18 BH % 3. 3 1 Ffedbs A H fl B (LD FE 3.28
1 =p= A R 4t szd) — 3.28 o FRMNEER X BFM E B (THD Bk 3.29
{£FIH ZEH ho= £ (L A 3. 2 5 B kA B F BEHB (FFH) HIE 3.21
Z aH T A =2 (D) B 3.16 VKR INKEEK R OB R OBE (23T FRE 225
1 A5 g # (OLTE) &g 3.20 1 J\AET h H & =T WwH =E 227
= H F&E B P M ® MO EK 226 o JKARERH BB OB BB R (O M 3. 8
1 FiE W & A W OoO=D E 2.26 i = I et & H F # Lsp & 324
Z HHAE R A 8 &F (OHA) = 3.10
X & fE & K # £ W oA & FH he B’ K ¥ & 88 3.23
[CO= - = % B % 76 3. 6 1 e 8% K N\Y/ 87 3.24
% [E)= =93 X = ® 86 3. 6 Vi AR #* 5F 3 55 3.29
Z DOEEERIE = )l Rr&E 93 3. 6 " IKER m B B BB 85 4. 2
Z DOEEERIC R B M B 49 3. 8 I FiE H & £ — 87 4. 4
Z Liezy==4 &~ M B & 84 3.11 1 chEs a = x 4 91 4. 7
1" [ B E — 62 3.12 R’ FREER = s /N L 96 3. 5
% il 7ERe H Ot FE = 82 3.13 1 FrisEs)1| & F =ZTEB 92 3. 9
7 FEFE % B &KF 89 3.17 I FIEEESR W B YWYER 94 3.14
Z horseaRe< = B YYUF 83 3.17 " FkEE - A =E =)L 91 3.16
Z Bl /oAl B Ok vwE 94 3.20 " FRNEE & M 2 &8 89 3.17
7 [E)==9=3 a B 89 3.29 Vi T¥riE + B F¥ X 90 3.20
" [Ea)=-CS] K FT =YK 89 4. 3 " FIETEE % i IE *x 88 4. 6
Z =B E =2 — # 87 4. 4 OB == F I ¥ 88 3. 7
7 [Ep==CS B & X BB 66 4. 4 Vi L /NOAl ] b @ E £ 85 3. 9
” AR g2 W tvs 93 4. 5 " YREF H & 3 > 106 3.16
" [E0)=-S H & — B 65 4. 7 I JHEF F JiIIl X kX 73 4. 1
% (o=~ g JIl B F 95 4. 7 1 Ll x ith B = 85 4. 3
M I B4 W £ F 3 82 3. 7 1 =)|| & [l wYHF 72 4. 3
Z BTz R & =Twvx 84 3. 7 B B XEE = F b F 86 3. 7
Z A8) I EEER B & 86 3.10 Vi gaz #= E F 3 101 3. 9
” FEER X = = 84 3.10 " EA e B T v 95 3.22
1" =i = B THF 104 3.11 " HEFHTHT = H 8 F 80 3.23
% JE BT KAR & B 61 3.13 1 =)l B AN FEE 57 3.23
" =l=s] a Jl B x 88 3.22 " BEEFHTHT & F {lxBh 82 3.25
" a& A = i 75 3.25 " TTH =z #8 7 U 89 3.31
" HBIIIKREEET #F H B X 74 3.27 Vi EHEFETHT X BE E X 89 3.31
” HITFRENT & KX & H 87 3.31 IR OEEE A = B 71 3. 9
Z Fith B T = F 93 3.31 Vi SR F=T: 2 AN 94 3.20
" N== fa B &/\BB 79 4. 3 " JINAHET b= 2 23 B 9 3.27
£AHE SulREAE] & B ¥ F 88 3. 6 1 JINAHET b B FXIL 89 3.27
" BF ¥ &x Z7=F 80 3.11 BEE BT < H 8 F 92 3. 6
Z £aH I s #& F 93 3.13 Vi RN =] =LA i 86 3. 9
Z JUREAAET & F & B 69 3.15 " PAEEATLL s F FV= 84 3.16
" R s H YT 84 3.17 " P K E 3 F kE 90 3.21
Z i F B = 3 89 3.21 " PGl ErK F £ 75 327
Z LI A/ &® v © 96 3.22 " B ANER wBER B W 71 4. 8
Z )\t SEEH 7 = 107 4.1 IR H ES B H >¥Xh 84 3.16
7 ) \WEFTET = M & K 45 4. 3 1 D= ol *o® 90 3.27
1 SRARHET 5 K HE&BF 99 4. 5 " &x0 ERAR aVvE 83 4. 5

S THEE TM30FsAS 18



